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If the population of a tOil is 20000. If it will increase 20% in 1st month and
decrease 10% in 2nd month. Now find the population of the town after 2nd
1117001191V

e Teh htel shl STHETAT 20000 B TS TE Tgel HEH W 20% ¢ AT 3R GO TEH |
10% T AT STl GO I ok ST e shl AT ATl shiford?




If the income of a man is 56000. If it increases 16 2/3% then decreases 7 1/7%
then increases 30% and then decreases 14 2/7%. Now find his income?

Tfe Uek TTEHT T AT 56000 B AT TE 16 2/3% Tg AT E AT 7 1/7% T AT & T 30%
¢ STl & TR O 14 2/7% 92 AT 31 37T SHAT AT AT hifTU?




If te population of a town is 56700. if it decreases 10% in every year then find
the population of that town two years back?

At TRt el T THEEAT 56700 Tl ATS I T T 10% et &, AT &1 T4 I 36 TR i
SAEEAT [TA hITU?




If the income of a man is 70000 rs. He spends 30% in rent, 20% of the remaining
in travelling and 10% of the remaining in watching movies then find his savings?

3R Ueh TSHT <hT ST 70000 TUX T T TRTT H 30%, I T 20% JATAT H 31 I AT
10% ToheH 2@ W Tl ohidT &, dl IHeh! Seld AT chifoTu?




A man spends 30% in rent, 11 1/9% in travelling and 9 1/11% in watching movies
If his savings is 56000rs then find his income?

Tk HATEHT 30% TR UR, 11 1/9% ITAT W 3R 9 1/11% T 3@ § T il gl ATS IhT
T 56000 TUY & T ITehT 3T T hITSTT?




